
#HBVR

Please refer to britex.com.au for the most current product information.  

Allow +/- 5mm tolerance for dimensions and setouts shown in product literature.

call us on 1300 764 744 	

Due to ongoing research and our commitment to product development,  

details are subject to change without notice. Details accurate at time of print 

 britex.com.au | info@britex.com.au | A.B.N 83 004 309 737 165164

Vandal Resistant Wash Basin

HBVR

INSTALLATION NOTES

1) Fixture strength is ultimately determined by the load capacity of the  
supporting structure (noggins recommended for stud walls) and use of  
appropriate fixings. 2) Basin is secured to wall with an offset bracket  
positioned behind the rear/top of the basin. 3) Two additional fixing points 
are integrated into the basin body near the base (fixings not supplied). 
4) Remove access panel in base to fit off plumbing and wall fixings then 
replace panel. 5) P trap not supplied.

To order this item please advise:

•	 Tapware and tap hole details  

	 (if required)

Product Info:

•	 Base model vandal resistant 

	 basin

•	 Concealed access panel

•	 Plumbing & wall fixings hidden  

	 within shroud

•	 Supplied with 1 or 2 tap holes

•	 40mm waste supplied

•	 Suits P trap installation

•	 Optional tapware (see Tapware:  

	 Section 11)

Scan QR code  
to view our  

installation notes

Base Panel screw-fixed
from underneath with
M4 Button Head Allen Screw

Ø40mm Waste

365

3
6

5
360

220

360

3
6

3
2
0

333

5
0

3
5

0

3
5

0

19
5

To
 w

a
st

e

Ø300

185

Trap not supplied

Offset fixing 
bracket

Base Panel screw-fixed
from underneath with
M4 Button Head Allen Screw

Ø40mm Waste

365

3
6

5

360

220

360

3
6

3
2
0

333

5
0

3
5

0

3
5

0

19
5

To
 w

a
st

e

Ø300

185

Trap not supplied

Offset fixing 
bracket

Base Panel screw-fixed
from underneath with
M4 Button Head Allen Screw

Ø40mm Waste

365

3
6

5

360

220

360

3
6

3
2
0

333

5
0

3
5

0

3
5

0

19
5

To
 w

a
st

e

Ø300

185

Trap not supplied

Offset fixing 
bracket

Base Panel screw-fixed
from underneath with
M4 Button Head Allen Screw

Ø40mm Waste

365

3
6

5

360

220

360

3
6

3
2
0

333

5
0

3
5

0

3
5

0

19
5

To
 w

a
st

e
Ø300

185

Trap not supplied

Offset fixing 
bracket

Suggested Tapware:
(see Tapware Section: 11 for complete range of options) 

TW-9102
Eco Timed Flow  
Pillar Tap

TW-9110
Euro Basin Mounted 
Sensor Tap

TW-9103 
Timed Flow Lever  
Pillar Tap

TW-9201
Deluxe Timed Flow  
Pillar Tap

Optional Tap shown for indicative purposes only.

V
A

N
D

A
L

 R
E

S
IS

T
A

N
T

 W
A

S
H

 B
A

S
IN

#
H

B
V

R
H

A
N

D
 B

A
S

IN
S

Last Revised 2019


